

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 1 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
1	HON	HIGS6	Ignition Guest/Multi-Purpose Chair Four-Leg Stackinq Fixed Hard Caster 4-Way Black Grade 2 Uph Whisper Vinyl Paradise Charblack	121, 125	4	\$ 263.11	\$ 1,052.44
2	SIT	3130.PTC.PT2.	Power, EON (Clamp Mount, AC/125V, Dual USB-A, 107,108,113 PC1 Power Cord 96"11 Black			\$ 100.00	\$ 300.00
3	HON	H105684X	10500 Series Return Shell 29-1/2H x 60W x 24D 107, 108	2		\$ 368.95	\$ 737.90
4	HON	H10502	10500 Series Floorstd Full Ht Ped B/B/F 15-5/8W x 107,108,113 22-3/4D Grd L1 Standard Laminates Kingswood Walnut Charcoal			\$ 397.43	\$ 1,192.29
5	HON	H10504	10500 Series Floorstd Full Ht Ped F/F 15-5/8W x 107,108,112 x 22-3/4D Grd L1 Standard Laminates Charcoal			\$ 397.43	\$ 397.43
6	HON	H10524	10500 Series Access Strip 107,108,112 Grd L1 Standard Laminates Charcoal			\$ 102.92	\$ 102.92
7	HON	H10524LEP	15-3/4Wx23-7/8Dx28-1/2H L-Shaped End Panel 107,108,112 Grd L1 Standard Laminates			\$ 157.14	\$ 314.28

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 2 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
8	HON	H10524TSUPP	Kingswood Walnut 8Wx23-3/4Dx28-1/2H T-Support Brace	107,108,112		\$ 130.49	\$ 130.49
9	HON	H1522	Grd L1 Standard Laminates Charcoal Wood Center Drawer 22W x 15-3/8D	112	1	\$ 118.54	\$ 118.54
10	HON	H105R2448	Grd L1 Standard Laminates Charcoal 48Wx24D Rectangle Worksurface	107,108,112		\$ 153.92	\$ 153.92
11	HON	H105R2484	Grd L1 Standard Laminates Kingswood Walnut Charcoal 84Wx24D Rectangle Worksurface	112	1	\$ 254.08	\$ 254.08
12	HON	H10526LE	Grd L1 Standard Laminates Kingswood Walnut Charcoal P-Shaped w/ End L 72"W x 36/30"D x 29 1/2"H	107,108,112		\$ 602.35	\$ 1,807.05
13	HON	HIGS6	Grd L1 Standard Laminates Kingswood Walnut Charcoal P1 Paint Opt Black Ignition Guest/Multi-Purpose Chair Four-Leg Stacking Armless Hard Caster 4-Way Black	107,108,112		\$ 249.73	\$ 749.19

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 3 of 15

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Charblack				
14	HON	HIGS6	Ignition Guest/Multi-Purpose Chair Four-Leg Stacking	107,108,112		\$ 263.11	\$ 789.33
			Fixed				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Charblack				
15	HON	HCT1MM	HON Mesh Mid-Back Task Chair	107,108,112		\$ 303.78	\$ 911.34
			Swivel Tilt Control				
			Height and WidthAdjustable Arm				
			Hard Casters				
			Black Mesh Back				
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Adjustable Lumbar				
			Standard Base				
			Black Frame Color				
16	SIT	3130.PTC.PT2.	Power, EON (Clamp Mount, AC/125V, Dual USB-A, 109 PC1 Power Cord 96"11 Black	109	1	\$ 100.00	\$ 100.00
17	ENW	OCCR2424	TABLE TOP - REGENCY MAHOGANY - 24 X 24	109	1	\$ 137.03	\$ 137.03

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 4 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
18	ENW	TAI8244	LEGS FOR TABLE	109	1	\$ 292.70	\$ 292.70
19	HON	HML2S	Grove Two Seat Lounge	109	1	\$ 1,555.49	\$ 1,555.49
			Straight				
			Grade 2 Uph				
			Whisper Vinyl				
			Pavestone				
			Tapered Square Leg				
			Text Charcoal				
20	HON	HML1S	Grove Single Seat Lounge	109	1	\$ 1,361.73	\$ 1,361.73
			Straight				
			Grade 14 Uph				
			Lava 2.0				
			Aurora				
			Tapered Square Leg				
			Text Charcoal				
21	HON	HIGS6	Ignition Guest/Multi-Purpose Chair Four-Leg Stacking	109	2	\$ 263.11	\$ 526.22
			Fixed				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Charblack				
22	ENW	BEQR3672	Affinity Rectangular Desk 36x72 with 30x72 shell and 6" overhang	109	1	\$ 924.32	\$ 924.32
			Full Height Back Panel				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 5 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			None				
			Pionite or Nevamar Non-Premium Laminate				
			Please specify name and number of special laminate.				
			Pionite or Nevamar Non-Premium Laminate				
			Please specify name and number of special laminate. Apply				
23	ENW	BEYPBBF	BOX BOX FILE FOR DESK - REGENCY MAHOGANY	109	1	\$ 954.32	\$ 954.32
24	ENW	DCAR2448	Affinity Rectangular Return Shell, RH, 24x48	109	1	\$ 1,487.84	\$ 1,487.84
			Three-Quarter Height Back Panel				
			12/12 FILE				
			Pionite or Nevamar Non-Premium Laminate				
			Please specify name and number of special laminate.				
			Pionite or Nevamar Non-Premium Laminate				
			Please specify name and number of special laminate. Apply				
25	HON	HIWMMKD	Ignition 2 Task Mid-back, ilira back	109	1	\$ 347.84	\$ 347.84
			Synchro-Tilt w/ Seat Slider				
			Height and Width Adj. Arm				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Pavestone				
			Black Adjustable Lumbar				
			Standard Base				
			Black				
26	HON	H10530LEP	15-3/4Wx29-7/8Dx28-1/2H L-Shaped End Panel	113, 114, 3 115		\$ 167.70	\$ 503.10
			Grd L1 Standard Laminates				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 6 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
27	HON	H10530LEP	Charcoal 15-3/4Wx29-7/8Dx28-1/2H L-Shaped End Panel	113, 114, 3 115		\$ 167.70	\$ 503.10
28	HON	H105R3060	Grd L1 Standard Laminates Charcoal 60Wx30D Rectangle Worksurface	113, 114, 3 115		\$ 202.62	\$ 607.86
29	HON	HIGS6	Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut Ignition Guest/Multi-Purpose Chair Four-Leg Stacking Armless Nylon Glide 4-Way Black Grade 3 Uph Moxie Tangerine Charblack	113, 114, 6 115,		\$ 265.54	\$ 1,593.24
30	HON	HCT1MM	HON Mesh Mid-Back Task Chair 113, 114, 3 115, Swivel Tilt Control Height and WidthAdjustable Arm Hard Casters Black Mesh Back Grade 3 Uph Moxie Tangerine Adjustable Lumbar Standard Base			\$ 310.81	\$ 932.43

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 7 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
31	SIT	3130.PTC.PT2. PC1	Black Frame Color Power, EON (Clamp Mount, AC/125V, Dual USB-A, 113, 114, 5 Power Cord 96"l 1 Black 115, 121,			\$ 85.00	\$ 425.00
32	HON	HCFMU	Cofi Managerial Height Chair		116	10	\$ 738.38 \$ 7,383.80
			Weight Activated Standard Cylinder Fixed Polished Aluminum Black Hard Caster Grade 2 Uph Whisper Vinyl Paradise Channel Stitch Coordinating Polished Aluminum				
33	HON	HPC190X	Park Ave Support Column for Bullet Jetty Boomerng Pen	117	1	\$ 121.08	\$ 121.08
			P1 Paint Opt Black				
34	HON	H105B3072	72Wx30D Bullet Worksurface	117	1	\$ 242.59	\$ 242.59
			Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut				
35	HON	HIGS6	Ignition Guest/Multi-Purpose Chair Four-Leg Stackin&	117	2	\$ 263.11	\$ 526.22
			Fixed Nylon Glide 4-Way Black Grade 2 Uph				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 8 of 15

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			Whisper Vinyl				
			Paradise				
			Charblack				
36	HON	H10502	10500 Series Floorstd Full Ht Ped B/B/F 15-5/8W x117, 131 3 22-3/4D			\$ 350.68	\$ 1,052.04
			Grd L1 Standard Laminates				
			Charcoal				
37	HON	H10524LEP	15-3/4Wx23-7/8Dx28-1/2H L-Shaped End Panel	117, 131	1	\$ 157.14	\$ 157.14
			Grd L1 Standard Laminates				
			Charcoal				
38	HON	H10524LEP	15-3/4Wx23-7/8Dx28-1/2H L-Shaped End Panel	117, 131	2	\$ 157.14	\$ 314.28
			Grd L1 Standard Laminates				
			Charcoal				
39	HON	HIWMMKD	Ignition 2 Task Mid-back, ilira back		117	1	\$ 347.84
			Syncho-Tilt w/ Seat Slider				
			Height and Width Adj. Arm				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Black Adjustable Lumbar				
			Standard Base				
			Black				
40	HON	HIWMMKD	Ignition 2 Task Mid-back, ilira back		131	2	\$ 347.84
			Syncho-Tilt w/ Seat Slider				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 9 of 15

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			Height and Width Adj. Arm				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Pavestone				
			Black Adjustable Lumbar				
			Standard Base				
			Black				
41	HON	HIGS6	Ignition Guest/Multi-Purpose Chair Four-Leg Stacking Fixed Hard Caster 4-Way Black Grade 3 Uph Moxie Tangerine Charblack	119, 120	6	\$ 278.92	\$ 1,673.52
42	HON	H10502	10500 Series Floorstd Full Ht Ped B/B/F 15-5/8W x 21, 125 22-3/4D Grd L1 Standard Laminates Charcoal	21, 125	2	\$ 397.43	\$ 794.86
43	HON	H10592	10500 Series Desk Shell 72W x 30D x 29-1/2H Grd L1 Standard Laminates Kingswood Walnut Charcoal	121, 125	2	\$ 442.46	\$ 884.92
44	HON	H105908L	10500 Series 42Wx24Dx29-1/2H Return Lt File/File Ped Grd L1 Standard Laminates	121, 125	1	\$ 544.46	\$ 544.46

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 10 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			Kingswood Walnut				
			Charcoal				
45	HON	H105907R	10500 Series 42Wx24Dx29-1/2H Return Rt File/File121, 125 Per	121, 125	1	\$ 544.46	\$ 544.46
			Grd L1 Standard Laminates				
			Kingswood Walnut				
			Charcoal				
46	HON	HIWMMKD	Ignition 2 Task Mid-back, ilira back		121, 125	4	\$ 347.84
			Syncho-Tilt w/ Seat Slider				
			Height and Width Adj. Arm				
			Hard Caster				
			4-Way Black				
			Grade 2 Uph				
			Whisper Vinyl				
			Paradise				
			Black Adjustable Lumbar				
			Standard Base				
			Black				
47	HON	HCT1MM	HON Mesh Mid-Back Task Chair	122, 123, 124	3	\$ 310.81	\$ 932.43
			Swivel Tilt Control				
			Height and Width Adjustable Arm				
			Hard Casters				
			Black Mesh Back				
			Grade 3 Uph				
			Moxie				
			Tangerine				
			Adjustable Lumbar				
			Standard Base				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
 www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 11 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
48	ENW	TAI6364	Black Frame Color X-base for 18"High Tbl use with 30" and 36" tops	126, 127	2	\$ 510.81	\$ 1,021.62
49	ENW	OCR30	P1 Paint Opt Textured Charcoal TABLE TOP FOR LOBBY AREA	126, 127	2	\$ 228.24	\$ 456.48
50	HON	HML1S	REGENCY MAHOGANY Grove Single Seat Lounge	126, 127	3	\$ 1,233.19	\$ 3,699.57
51	HON	HML1S	Armless Grade 14 Uph Lava 2.0 Aurora Tapered Square Leg Text Charcoal Grove Single Seat Lounge	126, 127	2	\$ 1,052.62	\$ 2,105.24
52	HON	HML1S	Straight Grade 2 Uph Whisper Vinyl Paradise Tapered Square Leg Text Charcoal Grove Single Seat Lounge	126, 127	2	\$ 1,088.00	\$ 2,176.00
			Straight Grade 3 Uph Moxie Tangerine				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 12 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
53	KNE	DP3PWS64	Tapered Square Leg Text Charcoal Panel/Screen Wall Starter, 64H	131	1	\$ 84.76	\$ 84.76
54	KNE	DB1PWSP	Panel-to-Worksurface Bracket, Pair	131	1	\$ 10.81	\$ 10.81
55	KNO	DP5PE64	PAINT: Medium Grey (Textured) Panel End Assembly, 64H, metal flat	131	1	\$ 50.16	\$ 50.16
56	HON	H105HLEG2428105 SER H-leg 24Wx28-3/8H	PAINT: Medium Grey (Textured) P1 Paint Options Charcoal 60Wx30D Rectangle Worksurface	131	2	\$ 183.32	\$ 366.64
57	HON	H105R3060	Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut	131	2	\$ 202.62	\$ 405.24
58	KNE	DP8VMMRR644	Preconfigured Panel, Full View, 2 Monolithic/Monolithic Fabric to Raceway Side 1 & TOPCAP: Radius Metal Core Paints TOPCAP: Medium Grey (Textured) RACE: with Knockouts Core Paints RACE: Medium Grey (Textured) FABRIC: Circuit (Gr10) COL: Frequency	131	1	\$ 528.00	\$ 528.00
59	HON	H4041	Olson Stacker 4040 Series Polymer St-Back 4-Ctn	133	2	\$ 453.53	\$ 907.06

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 13 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
			Tangelo Chrome				
60	HON	HBTTX30S	Seated height X-base for support of 30 36" tops	133	1	\$ 215.68	\$ 215.68
			P1 Paint Opt Charblack				
61	HON	HBTTSQR30	30" Square Top	133	1	\$ 213.51	\$ 213.51
			No Grommets Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut				
62	HMI	LK20D.365	+Lat File,Bar Pull Freestd,Ptd Mtl Frnt, Flip Dr W/ Pullout Shf 4 Dwr 36W +textured paint on smooth steel +graphite +keyed alike +graphite +no counterweight (must gang or anchor) +front-to-back filing rail and dividers in flipper	133	1	\$ 1,962.36	\$ 1,962.36
63	HON	HBTTSQR30	30" Square Top	LEGAL RECORDS	1	\$ 213.51	\$ 213.51
			No Grommets Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut				
64	HON	HBTTX30S	Seated height X-base for support of 30 36" tops	LEGAL RECORDS	1	\$ 215.68	\$ 215.68
			P1 Paint Opt Charblack				

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 14 of 15

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

SHIP TO:

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
65	HON	HMPTT3048	Between 30x48 Table Top No Grommets Grd L1 Standard Laminates Kingswood Walnut Kingswood Walnut	LEGAL RECORDS	1	\$ 261.08	\$ 261.08
66	HON	HMPTBFI	Fixed Leg (2 per carton) Black	LEGAL RECORDS	1	\$ 190.27	\$ 190.27
67	KNE	DT1ASX3030	Square Table with X Base, Standard Desk Height, 30Wx30D BASE: Medium Grey (Textured) Core Laminates TOP: Grey Ash EDGE: Grey Ash	LEGAL RECORDS	1	\$ 707.89	\$ 707.89
68	KNE	DT1ASX4242	Square Table with X Base, Standard Desk Height, 42Wx42D BASE: Medium Grey (Textured) Core Laminates TOP: Grey Ash EDGE: Grey Ash	LEGAL RECORDS	1	\$ 816.43	\$ 816.43
69	HON	HNL3672DPRR	72x36x29-1/2 Dbl Ped Desk rect top recess mod Beaded Edge Kingswood Walnut Cylinder/Satin Black Grd L1 Standard Laminates Kingswood Walnut Grd L1 Standard Laminates	LEGAL RECORDS	1	\$ 1,222.62	\$ 1,222.62

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____

Pinnacle Design

3700 BAY ROAD, SAGINAW, MI 48603
 P. 989.790.7240 F. 989.790.1191
www.pinnacledesign.biz

BILL TO: BARB MENEAR
 GENESEE COUNTY - LEGAL SERVICES
 & LEGAL RECORDS 1.10.25

QUOTATION PREPARED BY:

LYNN CRAPO

1/10/2025

Page 15 of 15

TERMS: NET 10 DAYS
 PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN
 3700 BAY RD
 SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	TAG	QTY	SELL	EXT SELL
70	HON	HIGS6	Kingswood Walnut Grd L1 Standard Laminates Kingswood Walnut Ignition Guest/Multi-Purpose Chair Four-Leg Stacking Fixed Hard Caster 4-Way Black Grade 2 Uph Whisper Vinyl Paradise Charblack	LEGAL RECORDS	4	\$ 263.11	\$ 1,052.44
71	HON	HIWMMKD	Ignition 2 Task Mid-back, ilira back Synchro-Tilt w/ Seat Slider Height and Width Adj. Arm Hard Caster 4-Way Black Grade 2 Uph Whisper Vinyl Paradise Black Adjustable Lumbar Standard Base Black	LEGAL RECORDS	2	\$ 347.84	\$ 695.68
72	PIN		INSTALLATION	LEGAL RECORDS	1	\$ 574.32	\$ 574.32
			INSTALLATION OF ALL PRODUCTS	INSTALLATION	1	\$ 3,783.78	\$ 3,783.78
						TOTAL	\$ 62,806.93

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _____ DATE: _____